Student Name

DAWSON COLLEGE
Mathematics Department
Final Examination
Calculus IT
Commerce

- 201-NYB-05

Thursday, May 19, 2011

Student 1.D. #

ez

Instructors: M. Ishii, A. Jimenez, M. Marchant, I. Rajput

Sections: 13, 14, 15, 16

TIME: 9:30 am —12:30 pm.

. Tomeoa

Question #

Marks

1/25

7 L




1.) (25 Marks )
Calculate the following integrals
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2.)

(5 Marks)
Monthly records show that the rate of change for the cost of a product is

)=3v2x+25

and the fixed cost for a month is $11 125. What is the total cost of producing 300 items in a month?
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4.) (4 Marks)
Calculate the following integral using only the (Rlemman-sums) defmmon
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5.) (5 Marks ) . _
_Find the total area of the region enclosed by the functions f(x)=+ 7_):(+ 15 and g(x)=x+3
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6.} (4 Marks)

Use Simpson's rule to approximate f 3 Vv1+x?dx with n=4. The calculations should be done
with four decimals precision. ' |
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(8 Marks)
Calculate the following limits
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(4 Marks)
An insurance companyv is receivi of 42 000 dollars. Find the fun.lreh%

-

that company 10 years from now with an annual interest rate of 8% compounded continuously.
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11.)
(4 Marks)
Find the fourth degree Taylor polynomial of the function
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Find the sum of the series
o 2 3n+1 .
Z:n—l'J +5n ﬁ40
> —
I()sz(}%)ﬂz_g____f__ﬁ___:_
{1~ 4 71— 2
5= s
,_,\s?:;f“ 3.'_{“:5—;-3_;“__. G
Z Tz 2" p 2 =70



' 13)
(12 Marks)
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The demand function for a certain commodity is  p=D{x)=—0.6x*+160 and the supply |
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15.)

(4 Marks) : _

An investment is expected to generate income at the rate of R{t) = 1000 dollars per year for the next
20 years. Find the present and future value of this investment if the interest is at 5% per year

compounded continuously.
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INFORMATION SHEET
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